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Date Period

Fill in all the missing pieces for each line. Use the information provided as clues for all the rest of the parts.
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Decide from the given tabie whether a linear, inverse variation, or neither relationship is represented.
Explain your reasoning.
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Complete the following.

11. At Metropolis Middle School the student government earns money by recycling cans and bottles at after school
events. Some sample {attendance, containers) data are shown in the graph below, along with a line modeling the
pattern in the data.

a. Whrite an equation of the line shown. -
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b. Explain what the values for m and b in your e AR o A S R O .
equation tell about the relationship between the o L P d bbby Ty
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¢. Using either the graph or your equation answer the following questions? :

1. About how many containers will be recycled if 125 people attend a chorus concert?
Explain using words, numbers, and/or diagrams.

=0 +1S
2.

2. What attendance at a basketball game will produce about 125 containers to be recycled?
Explain using words, numbers, and/or diagrams. '

2.5 contuiners

AS0 people
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12. A group of Metropolis Middle School students volunteered to work all day helping to build a new city
playground. A local pizzeria offered to supply twelve large pizzas for their lunch. The volunteers share the pizza
equally (So if one volunteers comes then they get all twelve pizza to themselves, if two volunteers come then they
each get six pizzas, and so on). o '

a. Complete the following table showing how the amount of pizza for each volunteer depends on the
number of volunteers.

Number of | 2 | 4 8 16 | 32
 Volunteers:~ .. -

Number of Pizzas 12 6 § %-% 9“’“5 9375

‘per Volunteer .

b. Is the relationship between the amount of pizza per volunteer and the number of volunteers linear,
inverse, or some other pattern? Give an explanation justifying your answer,

Circle One: Linear Neither

%j =12 T’} =)

¢. Write an equation relating amount of pizza per volunteer P Yo the number of volunteers n,
Equation: %::) o la/m

d. Find the amount of pizza per volunteer if there are 12 volunteers. i 1’:2/2/5\«/&/()“3@ ‘%f@?’“
13. At Midtown Bowling Center, the cost to bowl four games is $8.40, and the cost fo rent shoes is $1.15.

e e R )

{ Inverse )

Explain!

a. Write an equation for the cost, C, for renting shoes and bowling n games. g ; L,g,,@
T = i i@
b. What is the y-intercept for your equation? What does it represent? v per
E | =Y Cost betp 3@}%@
. ' vou. bow |
¢. What is the slope of your equation? What does it represent?

2.0 Cost/ gome

d. What is the cost of renting shoes and bowling six games?

LIS + L (210) = %1375

e. Tony paid $7.45 for his games and shoe rental. How many games did Tony bowl?

TG = 240 % 1S
(p,30= 210 % 58@%@3
A =%




14, Two charter bus companies offer different pricing plans for a one-day school field trip. Badger Bus Line
charges $75 for the driver and $1.25 per mile for the bus. Hawkeyé Express charges $100 for the driver and
- $0.85 per mile for the bus. '

a. Write an equation showing how the cost of using each company ¢ will depend on the length of the field
trip x in miles.

Badger Bus Line equation: C, = 15 + | 'Q"g%
Hawkeye Express equation: C = VOO +O,%§ A
b. Use the above information to answer the following questions. Show all your cafeulations.
1. For what distance will the cost of using Badger Bus Line be $250?
260D =715 + 125 X 140 miles
2. What will a 250 mile trip cost if Hawkeye Express bus is used?

C=100+ 0.855(250) $212,60

3. For what trip lengths can the school use Badger Bus Line if they have at most $300 to spend on
transportation? Represent your answer as an inequality. -
| ~15 + .25 x £ 200

B0 miles or less X & 180

15, Toothpicks were used to make the pattern below. Use this paﬁern to answer the following questions.

AN BN AN

1st 2nd 3rd ath 9

a. How many toothpicks will be in the 5™ figure?
: ' 1%

b. How many toothpicks will be in the 6™ figure? i3

¢. How many toothpicks will be in the 23" figure? 'Z"‘B 3

d. What number figure would take 61 toothpicks to make? 2

. Describe the pattern for this toothpick problem in words.
eache naw fAgue adds Z e

ot EGLCLKJ /

L 113

f.  Write an equation for the number to toothpicks t needed to make the nth figure.

(Ql — ZK — % ‘ Equa?ién: |
(0= 22X ﬂmQx*}
B0 = X Y .
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LFP Practice — How much do you remember?

Name

A sduare has an area of 36 square units. What is the length of a side?

Ej A=3l 5 ,,,_;'(mmﬂg
2y ~

A square has an area of 30 square units. What is the length of a side?

7] A=30 ~NZO ik
. 35;3 aé."’?
A équare has an area of 144 square units. What is the perimeter of the square?
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Pythagorean Theorem practice problems

=41 = axy

1, 42 + 52 = g2 }VL@ 4- 2%; | e
2rivec UGed  CF=s3 CF {83/ 1%

Find the length of the third side of each right triangle;

c/q T f@

Pind the length of the hypotenuse.

14 MQ’W V=

5

s 289 =C

¥ind the length of the side not given when the hypotenuse is ¢ and the legs
are ¢ and b e .

6.a_m10,b=24 WO ﬂfg?k;
7.a=9% c=13 i%qu o @é .

8.6=18,0=30 .3 &> - fg;:{{;

$a=56=12 g3 5> NL4
10.a=6,c=10 R
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‘Name:

- GGG Common Assessment Review

1. The side of a square measures 2.2 cm. What is the area of the
square? ——

2.2° (4.84cm2

2. The edge length of a cube is 7 in. What is the volume of the

cube? .
7 = 343 \}j‘i
3. Write 8% in expanded form.
5688
4. Write szm in scientific notaiion.
QB8 . 1077
5. Write QW in scientific notation.
4.87 - 10"

7,8422x 107 in standard form.-

6. Writs:_j
- OOCOOTIRH2Z L.

7. Write 4.21011 x 104in standard form.

%21@1;5




8. Simplify x7/x3

x‘-i

9. Simplify a* - a>-
W

O

10. Simplifyy~’
1

""73}
© 11.What is the sta‘rting point (y-intercept) and growth factor in
the following equation: y = 8.1+ 1.5¥

B starting

12. Youdeposit $350 in abank account that earns 3% annual
compound interest. What is the balance in your account after 5

years? j = 26 o .03) B .
J o $40575

13. A car costs $21,435. Each year the car depreciates (decreases -
in value) by 8%. How much will the car be worth after 10
years? \

Ve
08 Q,MBS(_@OID;) o
.92 S 89211,




